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(1) x(y2

− 1)dx + y(x2
− 1)dy = 0.

(2) (cosx +
1

y
)dx + (

1

y
−

x

y2
)dy = 0.

(3) y′′ + y = tan x.
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dx
dt

= x − y − z,
dy

dt
= x + y,

dz
dt

= 3x + z.
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� Cauchy 1 �
dy

dx
= f(x, y), y(x0) = y0
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dx
dt

= y,
dy
dt

= −ay + 4 sinx@
A �
B A
C
D
E
F
G
@
A
HJI �
K
L
!
M
N
O
;
P �"�
+,!'&Q�SR
T
U f(t) 3 0 ≤ t < +∞ V
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x′ − x = f(t) ] Y
^ ] �
_
�
`
a limt→+∞ x(t) = −b, b
c �
�
`
a limt→+∞ x(t) = ∞.
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w f(s + t) = f(t)+f(s)

1−f(t)f(s)
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U f(x) #yx z f ′(0) = 2.
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